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The quotient of two fractions:

Simplify:

S = =LL-la%s

Instead of dividing by a
fraction you can MULTIPLY
by the RECIPROCAL.
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Find this product.
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Section 1-2: Exponents and Order of Operations

11 1?) - 4= fo . L{L 3
3 - s T ' }_D."L

S22 _ fL
i = <

This whole thing How can you say each?

g 's called a 7  eFive to the second power.

POWER 1 . 5 ® The second power of five.

e Five squared.

2 T o Four to the third power.
4 ® The third power of four.
e Four cubed.

[ — Base 4 — Exponent

3 6 5 e Six to the fifth power.
. ® The fifth power of six.



What does each equal? x=3

1. Py 2.@20~ = <’L .’zp>j——/ =30
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3. -x2 ~ 4 (-X)2 = _(3))2 - C— 3>L
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- -3 - = +9

Order of Operations:
PEMDAS

m Order of Operations

O P O

. Perform any operation(s) inside grouping symbols.
. Simplify powers.

. Multiply and divide in order from left to right.

. Add and subtract in order from left to right.

Simplify each without a calculator.
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Parentheses ( )
are just one example of grouping
symbols. Can you name two others?

Parentheses: ( )
Brackets: [ ]

Braces: { }



Simplify using order of operations ~ Could be written as
WITHOUT A CALCULATOR 4 - 2(1 3 - (7 + 3))2

4 - 2[13 (7 + 3)P
1&\5— \o)

L\ - 1&3)
L 3E) ©

4 -\% =

Simplify each

2-(5+1)=(9-2)
= &G 2 Ve &
_-2 =17 "7

Simplify. 8-3 5
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Why can't you divide

just the 8 by 47
because this fraction really means: <g_’g> _= L_,{

And by Order of Operations you must subtract before you divide.

If you wanted to divide first you would have to divide both the 8 and the 3 by 4,
then you could subract.



